Ecuaciones Lineales Simples (G)

Resolver para cada variable.

v b
C 1%
S =7 Yo
7 1 12. — 6
63 _
b
16
9. 3y—(—=1)=13 14, ——(=9) =1
y
—81
10.—:—9 15.%
¢ 3

MatesLibres.com




Ecuaciones Lineales Simples (G) Respuestas

Resolver para cada variable.

L4 L=—4 6. L —3=—_11 LA
9 7 T 7
V:—45 V:—56 b:21
u
20.2——=28 7.2:7 12.L:—6
2 4 -5
u=—12 c =28 v =30
16 v
3. — =28 8.§_2:5 13.—3+7:5
y _
u=2 bb:9 v==06
_ 16
L 298 0. 3y—(—1) =13 4 (=9) =1
1% y:4 y
v="7 y=-2
—81
5128 10. —— = -9 15 g:_g
-5 c 3
a= —40 c=9 a=—-27

MatesLibres.com




